Mifice of the Executive Engineer (JSD)P.H.E Division Awantipora

E-Mail ID: phedivisionawantipora@gmail.com

No.PHA/Awp/_5702-07 Dated:_13-12-22

M/S Zahoor Ahmad Wani S/o : Ghulam Ahmad Wani R/o: Nunner Ganderbal Reg. No. : SE/hyd/sgr/AAY-66/civil GST No. 01AALPW4359F1ZK PAN No. AALPW4359F

ZZZ prath lang

Subject:-Allotment for Construction of WSS Khanbasti Chukpora by way of laying / fitting , Service Reserviour, anchor block, Chowkidar Quarter, chain link fencing, Sluice chamber, seprate toilet block, Chemical Shed, improvement and levelling wss khanbasti chukpora under JJM

Refrence:- 1.Your tender in response to this office E-NIT No. 27/PHA of 2022-23 (e- tendering) issued under endorsement No.PHA/Awp/2727-37 dated:- 01.08.2022,Tender ID :2022_PHE_182123__4

2.Tech. Sanction No. CE/PHE/DB/498 of 9/2022 dated:- 09.09.2022

- 3. Chief Engineer Kmr, Jal Shakti (PHE) Deptt. Srinagar's No. CE/PHE/MC/DB/13745-83 dated:- 26-7-2022
- 4. Minutes of Meeting DJJM Pulwama held on 02/11/2022 endorsed vide No. 4854-62 dated:- 04/11/2022.
- 5. Superintending Engineer Hydl Circle Pulwama H.Q Shopian's Authorization No. SE/Hyd/Spn/DB/5682-83 dated:- 06.12.2022

For on behalf of lieutenant Governor of Union Territory of Jammu & Kashmir, contract for above mentioned work is hereby fixed with you at the following quoted rates, terms conditions.

Advertised Cost:-Rs 153.62lacs

the start of the

Alloted Cost:- Rs 144.257lacs

(Rupees one crore forty four lacs twenty five thousand and seven hundred)only

	1			Alloted	Amount		
S.No.	Particulars of items	Unit	Qty	Rate	in figures	in Words	
1	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed: All kinds of soil (1 meter from cutting edge).	cum	5853.76	409.40	2396552.759	Rupees TwentyThree Lakh NinetySix Thousand Five Hundred FiftyTwo Paise SeventySix Only	
	Earthwork in excavation by mechanical means in all kinds of soil	cum	1937.75	177.24	343439.543	4 Rupees Three Lakh FourtyThree Thousand Four Hundred ThirtyNing Paise FiftyFour Only	
	Laying & fitting of G.I. pipes (Light) complete excluding cost of pipes and pipe fittings100 mm Dia (P/F of Flanges)	joint	500	1173.7	586875	Rupees Five Lakh EightySix Thousand Eig Hundred SeventyFive Only	
4	80 mm Dia (P/F of Flanges)	joint	417	1032.	90 430719	3 Rupees Four Lakh Thi Thousand Seven Hund Nineteen Paise Thirt Only	

		Subje	ect:-Allotment for Construction of WSS Khanbasti Chu block, Chowkidar Quarter, chain link fencing, Slui and levelling wss khanbasti chukpora under JJN	ukpora by iice chamł M	y way of layir per, seprate	ng / fitting , toilet block	Service Reserv ;, Chemical She	And
			65 mm Dia (P/F of Flanges)	joint	417	939.00		Rupees The dial
ġ		6	50 mm	RM	3400	38.31	130258.08	Only
	ŀ	7 4	40 mm	RM	5400	38.31	206880.48	Rupees Two Lakh Six Thousand Eight Hundred Eighty Paise FourtyEight Only
5 5 5 1 1		8 2	25 mm	RM	4300	28.78	123755.505	Rupees One Lakh TwentyThree Thousand Seven Hundred FiftyFive Paise FiftyOne Only
			0 mm	RM	5000	19.01	95073.75	Rupees NinetyFive Thousand SeventyThree Paise SeventyFive Only
			5 mm	RM	3000	19.01	57044.25	Rupees FiftySeven Thousand FourtyFour Paise TwentyFive Only
	12	Tee, com 25 to Fillin	aking connection of G.I. distribution branch with . main of following sizes by providing and fixing e, including cutting and threading the pipe etc. nplete to 40 mm nominal bore ng available excavated earth (excluding rock) in	each	83	625.61	51925.52625	Rupees FiftyOne Thousand Nine Hundred TwentyFive Paise FiftyThree Only
	13	Carria	age of different materials from different		4616.375	186.58	861320.016	Rupees Eight Lakh SixtyOne Thousand Three Hundred Twenty Paise Two Only
	14 E	from A	Avg Lead of 35Kms	МТ	80.47	400.19	32203.48323	Rupees ThirtyTwo Thousand Two Hundred Three Paise FourtyEight Only
1	N	Mtr	actual site of work by manual labouro 1000 arriage for 100 mm dia pipe	MT	80.47	928.80	74740.73396	Rupees SeventyFour Thousand Seven Hundred Fourty Paise SeventyThree Only
16	Pro	ovidin	g & Laying of stone soling (dully hand	Mtr	3000	14.72	44170.56	Rupees FourtyFour Thousand One Hundred Seventy Paise FiftySix Only
	all c	encujii	ges loading un-loading and stacking at-	Cum	791.86	578.80	458328.2513	Rupees Four Lakh FiftyEight Thousand Three Hundred TwentyEight Paise

TwentyEight Paise TwentyFive Only

MIL N V Xen

ashmir r Hydra ineer S the st case e HE D ch for Shario and the second s 1.1. nhasti chuki 4

NinetyOne SixtyThree Hundred SixtyThree Hundred One Latch Thirty	Report for Construction of WSS Khanbasti Chukpo chowkidar Quarter, chain link fencing, Sluice of levelling wss khanbasti chukpora under JJM Viding & laying in position cement concrete of pecified grade excld. The cost of centring and shuttering all work upto plinth level(1:4:8 coarse sand	chamber, s	seprate ton		396675.2998	Ruj Ninet	upees Three Lakh tySix Thousand Six ndred SeventyFive Paise Thirty Only
18	40mm nominal size crushed stone agg.) Providing & laying in position cement concrete of specified grade excld. The cost of centring and shuttering (1:1.5:3 coarse sand 20mm nominal size	Cum	43.71	7324.39	320148.9907	7 Twe	upees Three Lakh enty Thousand One undred FourtyEight ise NinetyNine Only
19	crushed stone agg.) Cement conc. Work in shuttering in 1:2:4 20mm stone agg. Nominal size	Cum	126	6070.81	764922.489	O7 Sixty	Rupees Seven Lakh tyFour Thousand Nine lundred TwentyTwo aise FourtyNine Only
20	Reinforced cement conc. Work in beams, suspended floors roofs having slope upto 15 deg. Landing balconies, shelves, lintels upto floor 5 level excld. Centring, shuttering in 1:2:4 20mm stone agg.	Cum	2.31	6552.97	7 15137.3633	31 One P	pees Fifteen Thousand e Hundred ThirtySeven Paise ThirtySix Only
21	Nominal size Providing & laying in position cement concrete of specified grade excld. The cost of centring and shuttering all work upto plinth level(1:3:6 coarse sand 20mm nominal size crushed stone agg.)	Cum	21.09	5106.04	4 107686.33	T	upees One Lakh Seven fhousand Six Hundred EightySix Paise ThirtyFour Only
22	Providing & laying in position cement concrete of specified grade excld. The cost of centring and shuttering (1:2:4 coarse sand 20mm nominal size crushed stone agg.)	Cum	113.59	6070.8	689590.09	949	Rupees Six Lakh EightyNine Thousand Five Hundred Ninety Paise Nine Only
23	P/L in position specified grade of reinforced cement cencrete excld. The cost of centring, shuttering, finishing and reinforecement-All work upto plinth level. 1:1.5:3 graded stone agg. 20mm nominal size	Cum	50.18	8 8834.2	23 443301.8	3656	Rupees Four Lakh FourtyThree Thousand Three Hundred One Pai EightySeven Only
24	Reinforced cement concrete work in beams, suspended floors, roofs having slope upto 15°, landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases upto floor five level excluding the cost of	Cum	11.71	1 9248.	.53 108300.	.2893	Rupees One Lakh Eig Thousand Three Hund Paise TwentyNine On
25	centring, shuttering, finishing and reinference 1:1.5:3 (1 cement : 1.5 coarse sand : 3 graded stone aggregate Brick work with FPS bricks of class designation 75 in foundtion & plinth in cement mortar 1:6 (1 cement,		44.2	27 5806	5.54 257055	5.5811	Rupees Two Lakl FiftySeven Thousa FiftyFive Paise FiftyI Only
26	Extra for brick work in super structure above plinth level upto floor V Level(by manual means)		n 53.2	22 1242	2.91 66147	7.52917	Rupees SixtySio Thousand One Hun FourtySeven Pair FiftyThree Only

Subj	ject:-Allotment for Construction of W35 Kiloneering, Sluir block, Chowkidar Quarter, chain link fencing, Sluir	ce chamb	er, seprate	toilet bloc	ck, Chemical Sh	Wiour, and the contract of the
27	oject:-Allotment for Construction of WSS Khanbasti Chui block, Chowkidar Quarter, chain link fencing, Sluid and levelling wss khanbasti chukpora under JJM 7 Centring and shuttering incld. Strutting, proping etc & removal of form work fo	& Sqm	857.98	246.3	0 211320.216	Rupees Two Thousand Thates Only
28	3 Walls any thickness	Sqm	347.3	538.8	5 187140.920	Rupees One Lakh
29		Sqm	23.56	1959.3	2 46161.51794	Rupees FourtySix Thousand One Hundre SixtyOne Paise FiftyTw Only
30 31	enterior circular snuttering	Sqm	147.9	946.93	140051.6199	Rupees One Lakh Fourt
32	complete (Thermo-mechanically treated bars)	Kg	6907.35	81.85	565384.7638	Rupees Five Lakh SixtyFive Thousand Thre Hundred EightyFour Pais SeventySix Only
33	Structural steel for Posts including priming coat complete P/F of Chain Link fencing 50 x 50 mesh spacing including priming coat	Kg	14177.32	95.90	1359605.98	Rupees Thirteen Lakh FiftyNine Thousand Six Hundred Five Paise NinetyEight Only
4 P fr	Providing & Fixing 1 mm thick MS Sheet door with	Sqm	728	688.76	501414.732	Rupees Five Lakh One Thousand Four Hundred Fourteen Paise SeventyThree Only
pl Pr	plate at junctions and corners all complete	Sqm	3.88	4087.42	15859.18979	Rupees Fifteen Thousand Eight Hundred FiftyNine Paise Nineteen Only
& f Pro shu	fixed in position 2nd class kail wood oviding & fixing panelled or panelled & glazed	Cum	1.12	86449.36	96823.28729	Rupees NinetySix Thousand Eight Hundred TwentyThree Poiss
incl hing Seco Prov	cluding ISImarked black enamelled M.S Butt geswith necessary screws excluding panelling cond class Kail (imported wood)35mm thick	Sqm	21.07	2905.08	61209.99767	TwentyNine Only Rupees SixtyOne Thousand Two Hundred Ten Only
/ene	to 15 1528 BWR type	Sqm	3.74	2216.93	8291.325867	Rupees Eight Thousand wo Hundred NinetyOne

1 MM Yen

Area internet the tangent	otment for Construction of WSS Khanbasti Chukpe ck, Chowkidar Quarter, chain link fencing, Sluice of and levelling wss khanbasti chukpora under JJM	ora by wa chamber,	y of laying , seprate toi	/ fitting , Ser let block, Ch	vice Reservious emical Shed,im	r,anchor provement
OUR AND	Providing CGS sheet roofing fixed with polymer coated J or L hooks bolts & nuts 8mm dia with bitumen & GI limpet washers upto(a pitch of 60 degree) excld cost of perlins, rafters & tresses 0.63mm thick with zinc coating not less than 275g/som	Sqm	48.66		1	Rupees FourtyThres housand Four Hundred lightyFline Paise Fourty Only
39		Rm	27,43	649.18	17806.94294	Rupees Seventeen housand Eight Hundred Six Paise NinetyFour Only
40	15mm Cement Plaster on the rough side of single or half brick wall of mix 1:6(1 cement:6 fine sand)	Sqm	93.21	261.61	24384.23933	Rupees TwentyFour Fhousand Three Hundred EightyFour Paise TwentyFour Only
41	Distempring with oil bound washable distemper of approved brand & manufacture to give an even shade New work (2 or more coats)over and incld. Priming coat with cement primer	Sqm	93.21	139.96	13045.48052	Rupees Thirteen Thousand FourtyFive Paise FourtyEight Only
42	Painting with ready mixed Synthetic enemal paint or approved brand & manufacture in all shades to give an even shade NEW steel work (Two or more coats)	Sqm	441	114.51	50499.37305	Rupces Fifty Thousand Four Hundred NinetyNin Paise ThirtySeven Only
43	Finishing walls with water proofing cement paint of approved brand and manufacture & of rqd shade to give an even shade New work (2or more	Sqm	72.49	86.20	6248.652498	Rupees Six Thousand Two Hundred FourtyEig Paise SixtyFive Only
44	coats)applied @3.84kg /10sqm Providing glass panes 10kg/sqm (4mm thick)windows and clerestory window shutters (Area of opening for glass panes excld portion inside shall be measured)	Sqm	9.84	881.49	8673.8247	Rupees Eight Thousan Six Hundred SeventyThree Paise EightyTwo Only
45	Cement Concrete flooring 1:2:4 (1 cement: 2 coarse sand: 4 graded stone agg) finished with a floating coat of neat cement incld. cement slurry but excld the cost of nosing of steps etc complete 50mm thick with	Sqm	20.07	474.20	9517.09365	Rupees Nine Thousar Five Hundred Sevente Paise Nine Only
46	20mm n/s stone agg crushed Providing and Fixing glass strips in joints of cement concrete floors 40mm wide and 4mm thick	Rm	36.59	64.09	2344.934183	Rupees Two Thousa Three Hundred FourtyFour Paise NinetyThree Only
	Cutting of road and making good the same incl. supply of exta material i.e crushed agg., moorum , Screening,red bajri and labour requiredBitumen	Cum	15.6	3160.30	49300.6550	Rupees FourtyNin 4 Thousand Three Hun Paise SixtySix On

GIM)I Xen

Subject:-Allotment for Construction of WSS Khanbasti Chukpora by way of laying / fitting, Service Reserviour, of way of laying

48	and levelling wss khanbasti chukpora und WBM	er JJM	Cum	, ,	44.07	184	8.19	81449.	59007	Rupees S C Thousand Fo. C FourtyNine C FiftyNine C Rupces One L	ou sond
49	12mm Cement Plaster finished with a floating Connect cement of mix 1:4(1 cement:4 fine sand)	oat of	Sqm	48	32.97	268.	60 1	29726.	2008	Rupees One La Rupees One La TwentyNine Thou Seven Hundre TwentySix Palse T Only	-
50	Providing & fixing of 40x5mm flat iron hold fast long including fixing to frameswith 10mm dia bo nuts &wooden plugs and embedding in cement of block 30x10x5cm 1:3:6mix (1cement:3coarse san graded st agg)20mm nominal size	lts conc	No	:	32	153.1	.0 4	899.32	1	Rupees Four Thou Eight Hundred NinetyNine Pai: ThirtyThree Onl	dise
s c fi	Making plinth protection 50mm thick of cement concrete 1:3:6 (1 cement : 3 coarse sand : 6 grade stone aggregate 20mm nominal size) over 75mm of dry brick ballast 40mm nominal size well ramm consolidated and grouted with fine sand including inishing the top mooth	bed ed,	Sqm	3.1	.6 5	12.99	1621	1.03288	4 H	ees One Thousand undred TwentyOn Paise Three Only	ne
	roviding & fixing Hardware items complete150		No	32	9	3.90	30	04.8		es Three Thousan Paise Eighty Only	
	0 mm Handles		No	18	93	8.90	169	00.2	Hund	One Thousand Si Ired Ninety Paise Twenty Only	ix
			10	3	469	9.50	1408	8.5	Four Hu	es One Thousand undred Eight Paise Fifty Only]
plin	rubble masonry with hard stone in foundation & th using quarry stone with bond stones	Cu	m t	58.53	2345	5.15	137261.		ThirtyS Two Hu	ees One Lakh even Thousand ndred SixtyOne entyEight Only	
100m	ding and fixing soil waste pipes (10Ft Long) am dia PVC B Class ding and fixing vent pipes 100mm dia PVC B	Rm	1	20	328.0	55	6573		Five	Six Thousand Hundred /Three Only	
Class		No		3	375.6	0	1126.8	1	Rupees O ne Hundr	ne Thousand ed TwentySix ighty Only	
	lour 100 mm VC floor trap with Jali	No		6	140.8	5	845.1	R	upees Eig ourtyFive	ght Hundred e Paise Ten	
Providin	g and fixing G.I pipes B Class 20' Long	No	4	Ļ	187.80)	751.2	Ru Fit	pees Sev	nly en Hundred nise Twenty	
complea	te with G.I fittings including all necessary ke Sockets, Tee, Reducer etc15mm dia	Mtr	60		261.89	15	713.226	Seve	ees Fiftee en Hundre	n Thousand ed Thirteen Hiree Only	

The first of the service Reserviour, anchor the service Reservice Reserviour, anchor the service Reservice Reserviour, anchor the service Reservice R

Thom For	The second secon		way of layin er, seprate t	ng / fitting , : oilet block,	Service Reservi Chemical Shed	our,anchor ,improvement
ny Nine Lan	low leavel P.V.C flushing cistern of app make with manually controlled device with fittings Long Pan pattern white vitreous china W.C pan 580mm	No	3	5009.42	15028.27245	Rupees Fifteen Thousand TwentyEight Paise TwentySeven Only
62	brand with all necessary fittings	Lit	2000	10.56	21127.5	Rupees TwentyOne Thousand One Hundred TwentySeven Paise Fifty Only
63	Stain less steel heavy duty Bib cock long nose	No	5	939.00	4695	Rupees Four Thousand Six Hundred NinetyFive Only
64	Stain less steel heavy duty angle valve	No	4	892.05	3568.2	Rupees Three Thousand Five Hundred SixtyEight Paise Twenty Only
65	PVC connections	No	9	187.80	1690.2	Rupees One Thousand Six Hundred Ninety Paise Twenty Only
6	P/F man hole cover with frame	No	6	939.00	5634	Rupees Five Thousand Six Hundred ThirtyFour Only
	complete with nuts & bolts and rubber insertions including fabrication of tail pieces as required at site all complete of standard make & repute (Kirlosker/	No	3	20658.00	61974	Rupees SixtyOne Thousand Nine Hundred SeventyFour Only
		No	6	18310.50	109863	Rupees One Lakh Nine Thousand Eight Hundred SixtyThree Only
6	5 mm Gate valve	No	9	9390.00	84510	Rupees EightyFour Thousand Five Hundred Ten Only
5	0 mm Gate Valve	No	7	7512.00	52584	Rupees FiftyTwo Thousand Five Hundred EightyFour Only
wi fa co	th nuts and bolts and rubber insertions including brication of tail pieces as required at site all mplete of standard make & repute80 mm Dia Air	No	3	9390.00	28170	Rupees TwentyEight Thousand One Hundred Seventy Only
va 50	ive mm Air Valve	No	4	7512.00	30048	Rupees Thirty Thousand FourtyEight Only
P/I	of Heating Points	No	7	1408.50	9859.5	Rupees Nine Thousand Eight Hundred FiftyNine Paise Fifty Only
	62 63 64 65 66 7 7 8 8 6 7 7 8 8 6 6 7 7 8 8 6 7 8 7 8	 A leveling wass knanbasti chukpora under JJW A bviding & fixing water closet squating pan (English N.C Pan)with 100 mm and PVC "P"or "S" trap 10 ltr low leavel P.V.C flushing cistern of app make with manually controlled device with fittings Long Pan pattern white vitreous china W.C pan 580mm Water storage tank PVC tripple layer of approved brand with all necessary fittings Stain less steel heavy duty Bib cock long nose Stain less steel heavy duty angle valve PVC connections PVC connections P/F of CI/GI/DI sluice valves/ gate valves with cap complete with nuts & bolts and rubber insertions including fabrication of tail pieces as required at site all complete of standard make & repute (Kirlosker/ Vage)100 mm Sluice Valve 	64 Vertice Item (English U.C Pan)with 100 mm and PVC "P"or "S" trap 10 ltr manually controlled device with fittings Long Pan pattern white vitreous china W.C pan S80mm No 62 Water storage tank PVC tripple layer of approved brand with all necessary fittings Lit 63 Stain less steel heavy duty Bib cock long nose No 64 Stain less steel heavy duty angle valve No 65 PVC connections No 66 P/F man hole cover with frame No 7 P/F of Cl/Gl/DI sluice valves/ gate valves with cap complete with nuts & bolts and rubber insertions including fabrication of tail pieces as required at site all complete of standard make & repute (Kirlosker/Vage)100 mm Sluice Valve No 80 mm Dia Sluice valve No So mm Gate valve No 9/F Cl/Dl double acting air valve of approved quality with nuts and bolts and rubber insertions including fabrication of tail pieces as required at site all complete of standard make & repute80 mm Dia Air valve No 50 mm Gate Valve No No So mm Dia Air valve No P/F Cl/Dl double acting air valve of approved quality with nuts and bolts and rubber insertions including fabrication of tail pieces as required at site all complete of standard make & repute80 mm Dia Air valve No 50 mm Air Valve No No No No	3 No A 4 Aviding & fixing water closet squating pan (English yr, (2 Pan)with 100 mm and PVC "P"o" s" trap 10 ltr manually controlled device with fittings Long Pan pattern white vitreous china W.C pan 580mm No 3 62 Water storage tank PVC tripple layer of approved brand with all necessary fittings Lit 2000 63 Stain less steel heavy duty Bib cock long nose No 5 64 Stain less steel heavy duty angle valve No 4 65 PVC connections No 6 7 P/F man hole cover with frame No 6 7 P/F of Cl/Gl/DI sluice valves/ gate valves with cap complete with nuts & bolts and rubber insertions including fabrication of tail pieces as required at site all complete of standard make & repute (Kirlosker/ Vage)100 mm Sluice Valve No 6 80 mm Dia Sluice valve No 9 9 50 mm Gate Valve No 7 7 P/F Cl/DI double acting air valve of approved quality with nuts and bolts and rubber insertions including fabrication of tail pieces as required at site all complete of standard make & repute80 mm Dia Air No 3 50 mm Air Valve No 4 3 3	3 We leveling Was Khanasti chukpora under JIM 3 Guiding & fixing water closet squating pan (English manually controlled device with fittings Long Pan pattern white vitreous china W. C pan S80mm No 3 5009.42 62 Water storage tank PVC tripple layer of approved brand with all necessary fittings Lit 2000 10.56 63 Stain less steel heavy duty Bib cock long nose No 4 892.05 64 Stain less steel heavy duty angle valve No 4 892.05 65 PVC connections No 9 187.80 66 P/F man hole cover with frame No 6 939.00 7 P/F of Cl/Gi/Di sluice valves/ gate valves with cap complete with nuts & bolts and rubber insertions including fabrication of tail pieces as required at site all complete of standard make & repute (Kirlosker/ Vage)100 mm Sluice Valve No 6 18310.50 65 So mm Gate valve No 9 9390.00 70 P/F Cl/Di double acting air valve of approved with rusp complete of standard make & repute (Kirlosker/ Vage)100 mm Sluice Valve No 6 18310.50 65 So mm Gate valve No 7 7512.00 50 mm Gate Valve No 7	No35009.4215028.2724510Imanually controlled device with fittings Long Pan pattern white vitreous china W.C pan S80mmNo35009.4215028.2724562Water storage tank PVC tripple layer of approved brand with all necessary fittingsLit200010.5621127.563Stain less steel heavy duty Bib cock long noseNo5939.00469564Stain less steel heavy duty angle valveNo4892.053568.265PVC connectionsNo6939.0056347P/F of Cl/Gl/DI sluice valves/ gate valves with cap complete with nuts & bolts and rubber insertions including fabrication of tail pieces as required at site all complete of standard make & repute (Kirlosker/ Vage)100 mm Sluice ValveNo618310.5010986365Somm Gate valveNo99390.008451050 mm Gate valveNo77512.005238466P/F Cl/DI double acting air valve of approved quality with nuts and bolts and rubber insertions including fabrication of tail pieces as required at site all complete of standard make & repute80 mm Dia Air valveNo49390.002817050 mm Air ValveNo47512.0030048P/F of Heating PointsNo47512.0030048

e

Xen

21/4

	11
	8 1
	5 /
	100
Lindog / fitting , Service Reserviour, anch	1.9
the track by way of laying the black Chemical Shed improvement of S	18
tion of WSS Khanbasti Chukpolis amber, seprate toilet block, and the G 😴 /	1

and the second

		lotment for Construction of WSS Khanbasti Chul lock, Chowkidar Quarter, chain link fencing, Sluic	(pora by v	vay of laying r, seprate to	g / fitting , S bilet block, (Service Reserv Chemical Shee	Rupess Found Thousand Eighty, 20
S	ar	nd levelling wss khanbasti chukpora under min	No	15	939.00	14085	Rupess Found Thousand Eighty, Only
	74 Lign	ting Points of Water geyser of 25 L capacity	No	2	11268.00	22536	Rupees TwentyTwo Thousand Five Hundred ThirtySix Only
	76 Supp	oly & Stacking of graded stone aggregate at site o range 63mm to 45mm		142.27	530.16	75425.77784	Rupees SeventyFive Thousand Four Hundred TwentyFive Paise SeventyEight Only
	77 Supp site e	ly & Stacking of stone screening /chippings at xcluding carriage 13.2mm nominal size Type A	cum	, 21.06	473.63	9974,681496	Rupees Nine Thousand Nine Hundred SeventyFour Paise SixtyEight Only
	& bin	g WBM with specified stone aggregate screening ding material including screening sorting & lidation with PRR of 8-10 tonne capacity	3 cum	123.18	473.63	58341.94049	Rupees FiftyEight Thousand Three Hundred FourtyOne Paise NinetyFour Only
7	9 Supply	/ & Stacking of Moorum at site	cum	9.85	496.26	4888.175775	Rupees Four Thousand Eight Hundred EightyEight Paise Eighteen Only
80		ntling of pipe including stacking of serviceable al at site	m	2500	93.67	234163.125	Rupees Two Lakh ThirtyFour Thousand One Hundred SixtyThree Paise Thirteen Only
81	-	e of Materials By MTStone agg. from for ead of 20 km	Cum	222.37	377.75	84000.33643	Rupees EightyFour Thousand Paise ThirtyFour Only
82	Sand fro	om for an avg lead of 20 km	Cum	143.39	377.75	54165.61695	Rupees FiftyFour Thousand One Hundred SixtyFive Paise SixtyTwo Only
83	Cement	from for an avg lead of 10 km	МТ	149.39	223.62	33407.01756	Rupees ThirtyThree Thousand Four Hundred Seven Paise Two Only
84	Bricks fro	m for an avg lead of 25 km	/1000 no	7334	1.13	8263.9512	Rupees Eight Thousand Two Hundred SixtyThree Paise NinetyFive Only
5	Steel from	for an avg lead of 10 km	MT	43.12	234.42	10108.24861	Rupees Ten Thousand One Hundred Eight Paise TwentyFive Only
S	tones fror	m for an avg lead of 10 km	Cum	27.99	310.25	8684.03717	Rupees Eight Thousand Six Hundred EightyFour Paise Four Only

Head Draftsm -12

to the:-Chief Engineer uperintending ssistant Execu pletion of we ed amount s

nt Accounts isional Dra

Construction of WSS Khanbasti Chukpora by way of laying / fitting , Service Reserviour, anchor

Chowkidar Quarter, chain link fencing, Sluice c	ra by way hamber, s	of laying / Seprate t o il	/ fitting , Se let block, Cl	rvice Reservio hemical Shed,	improvement
Chowkidar Quarter, chain link fencing, suice of the chowkidar Quarter,	Cum	81.57			Rupees TwentyFive Thousand Three Hundred Seven Paise Fifty Only
xtra carriage of material from dumping site to site of vork by manual labour for 1000 mtrs lead	Cum	39.86	1012.44	40355.82611	Rupees Fourty Thousand Three Hundred FiftyFive Paise EightyThree Only
vork by manual labour ter Aggregates Sand	cum	22.43	1012.44	22709.01103	Rupees TwentyTwo Thousand Seven Hundred Nine Paise One Only
Cement	MT	50.2	432.37	21705.07139	Rupees TwentyOne Thousand Seven Hundred Five Paise Seven Only Rupees Ten Thousand
	Cum	8.44	1191.05	10052.43145	FiftyTwo Parse FourtyThree Only
Soling	MT	0.42	928.79	390.0930894	Ninety Paise Nine Only
Total:-					

Rates and quantity checked by



1

......anchor

The cost of work in no case exceed beyond Rs 144.257lacs (Rupees one crore forty four lacs twenty five thousand & seven Bid decleration security @ 2% vide CDR No.3249386 Dated:-16.08.2022 for an amount of Rs 308000/- are being retained as security deposit shall be released only after successful completion of the work expiry of defective period. hundred) only

- 2
- The work shall have to be started by you at site immediately and ensure its successful completion within a period of <u>04</u>. months from the date of issuance of allotment from this office strictly in accordance with the approved proposals falling Time of completion is essence of the contract.
- 3 4
- which the work shall have to be got executed through any other means at your risk and cost, besides CDR deposited by you as security against this contract shall be forfeited. However date of start for laying and fitting of pipes will start within 07 An agreement shall have to be drawn up by you with the department within a period of 07 days from the date of issuance of days from the date of issuance of pipe material by the deptt. allotment failure to execute such a formal deed shall not however prevent the contract from being enforced upon you.
- 5
 - The allotted works shall be subject to check by the third party monitoring agency appointed by the department. Payment shall be released as per actual / measured work done not less than 20% of the allotted cost on a 6
 - 7

Subject:-Allotment for Construction of WSS Khanbasti Chukpora by way of laying / fitting , Service Reserviour, anch block, Chowkidar Quarter, chain link fencing, Sluice chamber, seprate toilet block, Chemical Shed, improven and levelling wss khanbasti chukpora – under JJM

- 8 Performance security equivalent to 3% of the value of the contract shall have to be deposited by you in shape of CDR/FDR/bank Guarantee within one week of issuance of allotment order and valid for a period of 3 months beyond the expiry of warranty period of the contract.
- ⁹ The firm shall be bound for satisfactory performance of works for 18 months after the successful commissioning of the works. If during warranty period any malfunctioning / defects arise, you shall have to rectify same within a period of 1 days of receipt of intimation. In case of any failure on your part, the department may get the defects removed / repaired any other means and cost thereof shall be recovered from you and shall be recommended for further punitive action as governed under the relevant clause of the contract including black listing.
- 10

Pre & post Geo-tagged photographic evidence be taken during the execution of the work and shall have to be produced the time of submission of the bill.

- 11 The quantity allotted shall have to be executed on ground strictly as per the estimates that have been framed in the DPR the item of "laying / fitting, Service Reserviour, anchor block, Chowkidar Quarter, chain link fencing, Sluice chamber, seprate toilet block, Chemical Shed, improvement and levelling ".
- All other terms and conditions shall be applicable as laid down in standard bid document and PWD from No. 25/33.
 Any rules / terms and conditions shall be applicable as laid down in standard bid document and PWD from No. 25/33.
- Any rules / terms and conditions if not stipulated in the bidding documents, shall be strictly dealt in accordance with the relevant rules / guidelines stipulated in General Financial Rules (GFR-2017) and manual for procurement of works 2019 G.O.I.

Head Draftsman

opy to the:-

Executive Engineer (JSD) PHE Division Awantipora

Chief Engineer PHE Kashmir Jal Shakti Department, Kashmir Srinagar for information. Superintending Engineer Hydraulic Circle Pulwama H.Q Shopian for information. Assistant Executive Engineer Sub Division Tral for information necessary action. He will ensure the completion of work within the stipulated period strictly in accordance with

completion of work within the stipulated period strictly in accordance with approved proposals within allotted amount shall in no case exceed the allotted amount.

Assistant Accounts Officer PHE Division Awantipora for information H/D Divisional Drawing Branch for information Office File